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9. garrylh'g Mobile “phone in the

examination hall is strictly prohlblted

If any objectionable material is also

found then action will be taken as per

. University norms. -
- Please fill your Roll No. and other

information carefully on OMR sheet.
In case of any mistake on OMR sheet,
candidate will be responsible.

If there is any difference between

- English and Hindi-version of questions,
then English versmn shall be correct.
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Dlrectlve prlnc1ples enshrlned in

Indlan Constltutlon are glven in :
(A) Art_icles 36 to 51 B
(B)' Articles 41 to 78

(C) Articles 239 to 242

(D) Articles 245 t0 263 |

. “NITI” in NITI A'éybg stands for :
(A) National

Tra'nsformétidn of India ‘

- (B) Nurturing - Indian
Télecbmmunicati‘on Industries‘ o

(&) Nat1ona1 Instltute for Trackmg ‘

Indla

D) National Institution for |

'Transforming' India
- Folic acid pertams to :
(A) Vitamin’ A'»

(B) Vitamin B compl’éx‘
© Vitanﬁn C

(D) Vitamin K -

7-ABST

International’

: Wmmﬁn@ma%

. T e # fif ffRe. w

(A) TSR 36 A 51 §.°

®) sk a1 @ 78§

©) 313333"‘._23_‘9‘@' 242 F -
(b) vaﬁv‘éa-zz;s d263H

ifa am’m (NITI Aayog) ﬁ NITI E3|

A (A) Natlonal Intematmnal Trans-

formatlon of Ind1a

(B) Nurturing Indian Telecommu-

nication Industries

" (C) National Institute for Tracking "

| _Ind‘ia )

. (D) Nationél I'n'stittition forv'Tr‘ans-

formmg Ind1a N

@) frfr A
(B) foeifrt B i
© frmtm o

) fef K



4. Hindustan Republican Association | 4 fg-ﬁwd frafestens @ﬁm F T

was founded by:. B o 1 .

{

éA) Acharya Narendra Dev o ;v . -
: | - *'_(A)an'arﬁaia_éa%a |

(B) Motilal Nehru

. ) : :
C ey SRS

'T_(B)tq"lfﬁwﬁgz:%_ ’
~ (C) C. Rajgopalachari ‘ . ‘

ce (0
| | , ©) zﬁmmwmﬁﬁ
(D) Ram Prasad Bismil v L
| | (D) R fafer 3
5.  Two trains are running in opposite ' B | _
‘diréctiqns ‘with the same speed. | 5. 120 Hix maﬁﬁ Q3 faoda fﬂ’"
: ."_I"r'ains with the ‘same length 120 . T gam e Q Soidr ¥ qﬁ:é@@i
' m”etexs‘cros's each other m.' 12 | ) 12 ey # TR E @ S S

seconds, then the speed of each train -

ma
’ is« : | s B = . 2L . =
- : o (A) 10 feet/eoe
%Y 10 km/hour' o
. (@) 15 FEd/ET
(B) 15 km/hour _ | ,
(0 36 km/hour © 36~mma
V(D)_5'5'k1‘n/hour ' ' A(D) 55 fedfi/eom

7-ABST SR 4



6. What number should fill the blank | 6. St 72, 76, 73, 77, 74, 2, 75, ..
of 'mar-k_ of inte_rro_gatio_r‘x"in the - # yvq W%W i gmsrﬁ 'én'c"ﬂ
\ | foilbwing,seﬁés: REEEE arm"%

 79.76,73, 77, 74, 2, 5, .
T 2 », 73., ‘77, 74, 7y 75, , (A) 69
(@A) 69
3 ®) 71
 o® T
EERE (C) 75 .
© 75 L
D) 718 S e . |
7. Ten years ago, Prashant was half R R L =

R - @ e oft ) A SR SR T
of Suresh in age. If the ratio of their | I o '
R I 3 : 4 ¥, T TTH! TIAR 3G

present age is 3 : 4, the total of their , T T

EERNPA R o

present ages is :’ N -

o @was

- (A)'25 “ o |
. : B) 36
(B) 36 B

O 85 (© 35

™40 D) 40
-ABST - B |



Which of the following is synonym

for “Coy” ?

(A) Aggressive

(B ‘Im‘mpdest _

(o) Impudent
D) Shy

~ Antonym for “Fierce” is :

o _.(A) Moderate :

10.

(B) Ape

(C) Violent

(D) Intense -

Which of the.following is not

. correctly spelt ? - -

(A) EXoner'afe

(B) Experience -
(C) Consencus
D) Mainten'ancé _

7-ABST

“Coy” &I '{TFIHT%?E s T o
(A) Aggressive

(B) Immodest

(C) Impudent

(D) Shy

. “Fierce” o fodim ¥ ;o ‘

(A) Moderate .

(B) ,Ape" |

| (.C)-I;V‘iolent |
(D) Ix";tenSe'v

10. ﬁﬂfﬁf@ﬂ 3 g @ o ¥

'(A)Eionerage' o |

.(B) Experience

(ON Consencus

_ (D) Maintenance |



11.

121

13

Collectlon of data by means of

' Journal is called :
"(A)_. Classiﬁed data'-
- (B) Primary data

~ (C) Easily. available ;da‘ta'

(D) Secondary data

“The individual 'nun'iber‘ of a_group |

varies cont1nuous1y the whole group_

vary s}owly The statement is

related to :

'(A) Law of statistical .regularity

(B) Random Sampling rule

(C) Law of 1nert1a of large number

(D) None of the above '

is 15, then What would be mode ?

‘(A) 15

B) 21

©) 12

O 17

7-ABST

11.

12" 'll
aaa?ﬁ T %Grqﬁ T TR %ﬁi—%ﬁi,

vﬁmﬁrmmmmﬁ%

‘ (A)WW

(B) Wﬂﬁ?ﬁ- me‘.:ﬁ

(D) o wim |

| aaam% V’agmaaafua%

(A)mﬁ@aﬁwﬁ'&rmwﬁw

(B)éauﬁlwﬁm

L © W_mmﬁm

. ‘_1}3‘.
'If mean of a series 1s 12 and median ’

_(1:)):3113[3& ﬁ@ FE T |
15 B, R S magaﬁ'ém v

{A) 15

@B 21

‘(C) 12

®) 17



14. If coeﬂiciegt .of skewness of a series
is"\lﬁ, meaﬁ 1003?rid médian is 95,
fhén ﬁnd | étaﬂdérd deviation.
@n

- (B) 12
‘@
® o
15. Iﬂ Zp149 i;sf 1‘1.8“0, Zpoqo is i170,

Spyq; is 1064 and Zpggy is 1100,

then index number according to

- Paasche will be
 (A) 100.86

" (B). '96‘.73

: ;(c,‘) 98795 o

D) 98.77

7-ABST

14. AR feelt Soft w1 fwrn o 1.5,

WA 100 TH TEH 95 T, A A

1

A 11
® 1
©) -16 ’
(D) '9”
15. afe zélqo i186, zpogg 1170,
..Zplql 1064 AT Zpog;y .11;100 '@f, Fﬁ
@ i A
(A) ioo..se |
'» ® 96.73
© 98795

(D) 98.77



16.

If regression coefficient of x on y is

1 - 3 |
—— and that of y en x is J—‘E;. find

6 -

- the coefficient of correlation_:_ ‘

“(A) +0.5

17.

18

(B) -05'

(C) +0.47

(D) -0.47

Another name _of Gantt Chart is :

(A) Chi chart

(B) Z-chart

* (C) Histogram
(D) Control 'cﬁhrt

) To check intelligencjf of vstud;ants.,“t:he

~appropriate measurement is :

- (A) Geometric mean .
(B) Arithmetic méan_ ,b
(C) Median'

" (D) Mode

" 7-ABST

16.

17,

@) W T

ﬁxmymuﬁwm—%w
Yy F xR - R, W e PE T

(A) ;0.5 '

®) 05

(©) 4047

D) 047

e g T E

®) ¥ -
;(C)-%Iﬁﬁai‘ fa'a
   (D) ——
| s 'w&mﬁgmaﬁwmm
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(A)ﬁuﬁﬁ'{w

'(B) mﬁm mw
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19.

- 20.

21.

7—ABST

from insurance company.

The sum of deviation from

 arithmetic mean is :
" (A) Positive

" (B) Negative

(C) Zero .

(D) Unknown

Factor Reversal test is completed -| .
- | 1 20.

‘when :

f - VZPlQl
(&) Po1 * 901 = 3pyq,
.(B) Po1 x plO =1

- D) qu X qu =~1

The crops of farmer was destroyedv

from storm a_nd, he rece1ved 4 25,000 ,

This
inceme is :
(A) Casual. income. »’

(B) Agricultural income .

N (®)] Business income

(D) Partly agncultural income

10

19. THARR Aea § fore m fasrer w1 A
@) T
(B)‘m'
© =
D) 313“'5
e SRl qﬁ&m 1{{1 Bﬁ S| %
SCiF
V(A‘) Po1 X 901 = %1(;_:
®) poy % 1o =1
‘(C.) Poy x g0 =1
D g xan=1
21. fFum # St qFF ¥ T & T qun
| o o ¥ 2 25,000 TS TWILIE
31!?1'%”:
(A) TR T
| (B) &% a1

- (C) =R # 7 |



.22, Assessee‘éommence_d his.busine_ss on | 22. @m_mmjm-zom'aﬁ
v’v _ 11{112}014.1 What will be his ﬁrs:t»y, | mwm % | wem m—ﬁa&m
asiseesment y‘eel_' " | Tﬁw @Fﬁ  ? . .‘
() 2014-15 . j\  5eL 1 gA)zoygié
® 201516 o PR - ® 2015-;6-.»f |
(©) 2017-18 i‘, fc)'2017-18e
| @) dep_ehds_ en close of books” | i .(I:.))/‘ Tieh 3‘3 @%q—( ﬁ‘iﬁm %
: 23 .‘ Rate pf:c‘i‘e.preciatio}n'.on }and under 23 m Wruﬁ'q'q $3Fdﬁﬂ “Lﬁ? ‘T{m
e II_IC(.‘)I\I_-l.e.: Tax A@ 1s | - ) '. . aﬁa ¥ .. 
@ 25% | B " (A)r2'5% . y
®s% .. | ®5%
A‘(C)",‘Zero - N | | (C) ?Fl ! |

(D) 7.5% B D) 7.5%

7-ABST . 11



24.

- 925,

7-ABST

"1-10-2014. " This

]ﬂncome ear'ned" and received in

Japan on 1-7- 2010 but received in

Indla on 1- 12 2013. In wh1ch

assessment year this income is

ta_xable ?
(A) 2010-11
(B) 2011-12

(C) 2014-15 -

D) 2013-14 .
| Bonus annou_hced by employer on

1-8-2010 but actually paid on

expenses. is
allowable in the previous year :

(A) 2010-11

(B) 2011-12

(C) 2014-15

D) 2015-16

.712,

24. 1-7-2010 Y ST & 371 S o e

25.

# T frg SR 1-12.2013 W A

o T | e - Fre |

 (4) 2010-11

(B) 2011-12.
(C) 201415

(D) 2013-14 |

firdi 3 1-8-2010 ®1 A 1 S

‘ﬁmwllozouﬁﬁmt

ﬁwnaaﬁmagml@fm%

(A) 2010-11

(B) 2011-12

(C) 2014-15

(D) 2015-16



26. Mr. Sachin is a manager in a | 26. i §fe" TH F=HA § 1-10-2010 9
. company in the pay scale of ¥ 10,000 | ¢ 10,000-500-20,000 % 3T &
500-20,000 from 1-10-2010, what | _% | T o 2013-14 & 9 T P
| unld._b_e his basic salary for the‘. L mmoRm 2 e -
previous year 2013-14 ? - L ,
S ' - (A) ¥ 1,28,000
(A) T1,28000 Co R
ey (B) ¥ 1,29,000
(B) ¥-1,29,000 A | L
© z12850 =~ . |- (©TL28500

(D) ¥ 1,18,500. ' (D) T, 18,500

'27. If Rent ‘Control Act is applicable | 27- % fon it *'T‘ ?ﬂ‘l?f @ ﬁ'“f

calculate annual valuei from ‘the | . ¥ 9% ‘K’q ® T HIY
-fol}owirgg . T . -. . .} e (?)
O e 94000
" Municipal Value 24,000 o R
LR TR = <hm e 18,000
Fair Rent < 18,000 Lo e
. . R wa feEmr 12,000 -
- Rent Received 12,000 SR S p L
v femEm - 82,000

Standard Rent -32 000 _ o
: Wﬂ%ﬁm m (ﬁm), 6%
Mumclpal Taxes (Pa1d) , 6%' : , - _

(A) T 22,460 (A) T 22, 460

(B) %21,560 (B) ¥ 21,560

C© Taase0 (C) ¥ 22,560
oyze2e60 . | @® 22660
7—ABST 18 |




28.

29.

An expenses of ¥ 1,00,000 is paid in

chsh. What would be allowable

expenses ?

(A) ¥ 1,00,000

(B) T 20,000

(C) % 80,000

(D) Zero |

6.5% Gold Bonds purchased in 1977

* for ¥ 70,000 and sold on 1-11-2014

7-ABST

at? 8,60,006. The amount of capital

_ g'ainb will be :

(A) ¥ 1,43,200

(B) T 7,90000

©) Zero

D) ¥ 1,70,500

14

| 2s.

% 1,00,000 & =g H YEE THS A

(A)  1,00000.

- (B) T 20,000

29

(C) % 80,000

D) =

1977 2 70,006 # w1 g 6.5% wrf
afs 2 1-11-2614 £ z 8,60,006 #
3= fem .i@ﬁwﬁﬁﬁ_;
A) 2 1,43,200

(B) % 7,90,000

© =

D) = '1,‘70,500



30.

31.

deed). The taxable income of Mr X

7-ABST

“the total income of parent is :

% 20,000 earned by minor child. The

.amount whlch will be included in |

(A) % 20,000

(B) Zgro .

(©) % 18,500
(D) T 11,000
Mr. X and Mrs. X are partners in |
a firm and got ¥ 1,00,000’ each from- 1

~the firm as salary (permitted by

is : BTN

(A) 7 1,00000

(B) % 2,00,000

(©) % 80,000

(D) ?1,80,000

30:

3L

15

maﬁmaé g mﬂ?}.z 20,000

'ﬁﬁmﬁw—ﬁmaﬁwamﬁsh@u

aﬁaﬁﬁnﬁﬂw#ﬁ ?

@A) 2 20,000 "

® T
(© T 18,500

(D) T 11,000

s s e 2 o A R

R ERGR R i,oo,o__oo Ll
(A) 7 1,00,000

(B)  2,00,000

(C) T 80,000

(D) % 1,80,000



32. Bank paid the interest of ¥ 50,000. | 32. ¥% ¥ % 50,000 = FT TN

.The 'reCeipient»cbuld not submitted | .> 41 | Irawal PAN qg’fé;{am |A3q:1'q A
. PAN. What would be am§unt of | ' om wwr ofer w0 gp-ﬁ')
TDS ?

(A) T 5,000
(A) % 5,000 o
- | (B) ¥ 10,000
(B) T 10,000 : |
o | - (0) % 4,000
(C) 74,000 o |
e (D) T 8,000
(D) % 8,000 - |
. 33, ICWAL F Toival 9 § 8l
'33. Whén and where ICWAI| . : ——
established ? :
N (A) 1943, Frerwmr §
(A) 1943 in Kolkata | | -

' o (B) 1944, e &
(B) 1944 in Kolkata . .

(C) 1945 in Delhi = |l © 1945, oot

D) 1945 in Mumbai - | (@) 1945, g F

7-ABST 18



34. _Cdst accounting method for services

35.

- (A) 'Unit costing

of hospital is :

(B) Process Ac'osting‘

(C). Contréct costing

(D) Operating costing

. The cbst of preparation of tender and

- estimation is -

T-ABST

" (A). Factory overhead |

A

(B) Selling ovel"head'» -

(C) Office overhead

(D) Distribﬁtion_. overhead

17

34..;Amamaﬁ-@maﬁ‘q§f€rqm'?@?m ‘

(D) wReeR W

35.

ﬁﬁ’rﬁ%: -7

@) v

_ (B) Wk v

©) ¥ @\

(A) FRE e

- (B) fowa sufem

(©) Frter e

(D) foreor SufemE



36. Annual use of an item by a

blmanufacturing c/omparly is 1600
units.. The order placing cost is T 100 |

- and cost of carrjring one unit for one

year is ¥ 8. What will be Economic

- Ordér Quantity ?

37,

(A) 100 units

‘(B). 150 units ;

(C) 200 units
(D) 300 units

If price of material is showing

increasing trend, then which out of

the following method of valuing stock

- T-ABST

. yvill g1ve the lowest gx:'oss profit ?

(A) LIFO

(B) Replac"e_menf cost
(C) FIFO

(D) Simple average

18

36.

37.

@ﬁmmﬁmﬁ?ﬁaﬁmaﬁm

’wsﬂﬂmoomzhw%naﬁméﬁ

aﬁam%loo%am@aﬁwqm

mﬁr@%ﬁm?s%lﬁwﬁr

" (A)_‘ 100 gEA -
(B _-15»0‘\3355‘?4’?
,(Cj 200 E'EFIE‘EIT '
) 30 samsvﬁ B

s TR T e e kA e

i ¥ o e A S R 3
THA A I FH 3TI'Q"1T ?

,(A) .‘Lﬁﬁ*o, '~

(B) srﬁmrq'-r AN

(C) FIFO

(D) W= s



~ 88. 'If prime cost of an item is ¥ 2,500 | 38. 4R fFH AR F Y& @@ T 2,500

~and works cost is ¥ 4,000; The office . Gﬂ'( EﬁTI‘@'I‘-‘lT FIFI’H T4, 000 qo W

L 20 N 2, -
- overhead 'is 663% of factory | wﬁmw FTEr SaET w66 3%«
7 __ovérhead. The cbst of ~p'i‘oduc‘tib_n -’ 'a’T K| B?CHETI G gp-ﬁ A'
‘will be : o B
R - (A) _?.’7',833_
" (A) 7,833 o
: B . (B) 8633
(B) % 8,633 - S
- . (C) % 5,000
(C) ¥ 5,000 R
o , ] ©@ 29,167
(D) % 9,167 - AT
. ., ) - ' N | 39. qﬁ
39, If 4 L R
L SaET @ 282,000

* Cost of production ¥ 82,000 e |
| | | - FEeE U _"'?12000»
Office overhead ¥ 12,000 o : SR

Lo S  HREM IufeEm ?10000

- Factory overhead . = ¥ 10,000 o : ; '

B WRfE W wE 5,000
Opening WIP T 5,000 o - '

o L R aﬁarrarqmﬁ ‘ ?7500
' Ending WIP - ¥ 7,500 o :

Calculate prime cost. tﬁ

(A) % 67,500 @ X 67’_590

(B) % 62,500 . (B) 2 62500

© (C) 60,000 (@2 60,000

@) T51500 | | @ 57500

- 7-ABST 19



" 40. Per unit variable cost generally | 40. TJ’ﬁT THE URgawid wquma

TeMAIns ...tileveieeeenennnens - 1 " et ¥

:(A) ;\’ariab_lev o | (;&),. vﬁaﬁqsﬁa
(B) Fi_ged | | | - -' (B)V fw
o _s-enﬁ-ﬁged_ S g-feae
D) Re&ucing S | o Wﬁ?

41, Fixed expenses is ?"90,000, sales | 41. &R m? ‘9'0',000», fawa 2 3,00,000 |

© 23,00,000 and profit ¥ 60,000. What | T 1% 260,000 ¥ | TH-HN ST

quuld be P/V ‘rati"o 7 N w1 B 2
@ 40%' | @ s

® 45% | _' ~ | ®) 45% .
'(cAJ)'so% - B n © :50%‘__

®) 60% D) 60%

7-ABST - 20



42.

If standard and a_ctual price of raw

‘material per unitis ¥ 4 and ¥ 6 | .

' respectively and, stahdard and

" actual quantity of input is 100 and

110 respectively, then what will be

- material price variance -?

(A) T 220(F)

(B) T 200(F) .

. (© 7 2004)

43.

L Va.riabl_e cost is ? 28‘(‘),"thﬁen the |

' 7-ABST

D) % 220(4)

If ptoﬁt-w}olume ratio is 30% and |

selling price would be :

(A) ¥ 560

. (B) T 480

(©) T 400

D) % 680

42.

qga-m;% 4T T 6"€l aan Hmﬂ

100 T 110 %, 7 TR e e

gm 2

(A) T 220F)

. ®)  20000)

43.

(©) T 200()

(D) ¥ 220(A)

TR Y-S ST 30% T qﬁaﬁwﬁ’a

o T 280 E‘rﬂ‘rﬁm I am

(A) T 560
(B) ¥ 480 .

(©) ¥ 400 -

(D) T 680

21"

N



44.

45.

Work cdmple'ted‘ "
~ Work certified

‘Cash received  °

Details regarding 'a contract for

- 2014 are as. follows

Contract price 2 40,00,000

Cost upto date

2 .
3 of contract

1 '
- — of contract
9 & ;
'90% of work

~ ecertified

. What‘amoﬁnt‘ df profit will be .
~ transferred to P&L Account ?

(A) z"24,60,000
(B) % 2,64,000
(C) T 4,80,000
D) T 3,80,000 -

There are 1500 workers at the
. beginning of the year while 2250 at
" the end. During the year 40 workers

were retrenched at 35 workers

resigned. Find labour turnover rate

by separation method

(A) 5%

(B) 3.33%

©) 4%
D) 8%

7-ABST -

3 20,80,000 | .
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44, aﬁzom%w%@%ﬁmﬁam

45,

el % 40,00,000
oS W W oAE T 20,80,000
mad W
T e yofors
| T 90%
wwﬁmﬁvﬁrwwqaaﬁm
= wiafa . ?

(A) T 2,60,000
(B) T 2,64,000 -

(C) % 4,80,000
D) % 3,80,000

e B gy F 1500 mﬂmaﬁ
L ® o 2250 wfgw & 9 B IR

4oaﬁaﬁaﬁé€r%mw'awssw
¥ HEr B MW wwah‘m £
fafo- @ sm Frem aﬁ Trvr-n

ﬁﬁfm |
(A) 5%
(B) 3.33%
(C) 4%

(D) 8%



46

"When an audltor is-an employee of

an orgamsatlon as an audltee The

- audit is known as :

(A) Internal Audit

(B) External Audit

(%) ‘Ma.lnaAgemel"l"thudit

47.

48.

- D) Perfofmhnce Audit |

.“AuditOr is avwatchdog’, not a blood
hound” was quoted in the ease of :

"(A) London and General Bank
>(IA3) ‘Mexon 'aﬁd Robbins
* (O) Kingston Cotton Mill

D) GM. ‘Dandekag'

Who 'appoints - auditor - in

' Gevernment compames ?
'(A) Central Government
‘(B) State Government

v,(C) Comptroller and Audltor

General

(D) Finance M1mster |

- 7T-ABST
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- 46.

47.

.a'

W9 UH Iheh fR Wem § sihewm
+r ¥ w0 B w9 F P d g,

.(A)v”‘airaﬁm sidam

- (B) wred ai%&wi

(©) Sﬁ?ﬁ s

V(D)zsr&ﬁwa-—raém

v“ﬁwwmmaﬁﬁ%"_
M &, e w2 @ T T, 9

lzmmmgaﬁﬁﬁmwm >

(A)m@m%

® e trﬁw _'

48,

@ S s
‘wﬁmﬁ&rﬁaﬁwaﬁﬁgﬁaaﬁﬂ

";-'q'ﬂm%f

’(A)a‘aaﬁwwrz
:(B)WW |
-(C)ﬁm«‘*‘@ﬂﬂé‘@qﬁm

(D) faw



49. Who appoints the first auditor of

50.

 7-ABST

company ?

v (Ai Board of Directors

| B) Central’ Go&ernment

(C) Promotors of Company

D) | ‘. Sharehdlders of Company

_Which of the following statements

is correct ?

(A) Audit is- co.mpu.ls;ofy'«to all

“businesses

'(B) Auditor does not providé ‘the -

" guarantee of correctness book of

accounts

(C) Auditor provides the guarantee |
of correctness of books of

' -accounts

(D) Auditor gives satisfaction of

correctness of books of accounts

1 50.

24

49, FFE F wew st w R B

i

(a) e e
® aﬁaﬁm
(C»'auq%ra T

(D) Foft & sforert

P & @ wr o W ¥ 2

(A) ¥ s % ferg s o

(B) sdww wE B W H T

(C)»’ai%%r% @ %Waﬁ mr.a
(15)‘ ﬁwmaﬁ Tfmaﬂuﬁr



51.

C Variable cost

Tax rates

The followmg data regardlng

"leverages and cost of a company 1s,

-available :

Operating‘ leverage 2:1

?;:1,

Financial legzei'age
Interest - | 4 10 lakhs
30%

o Calculate profit after tax.

52.

(A) T 5,00,000

(B) % 15,00,000 -

(C) 2 3,50,000

(D) ¥ 10,50,000

If the gombin'e'd leve'r'age and

| 1'_..25.1.'espec'tively, fi_nd financial

 7-ABST

leverage. .

@ 2
(B 05

(C) 3125

D) 2.5

50%4';of , -sales

51

@mﬁ%eﬁmmmwﬁ

ﬁwmm%

.Qﬁﬂmm 2:1

s
mﬁa ’,.'"3o%v |
et o 50%

FX UTEE AN T |

- (A) % 5,00,000 -
!

. » 52.
‘operating leverage are 2.5 and-|

(B) % 15,00,000
- (©) .?, 3,50,'000

| (D) 7 10,50,000.

aﬁmsﬁmt{amm

_ m zsqanzsz‘f ?hfa—rﬁaa-rﬁam
'snaﬁﬁnzl

@ 2

®) 05

(C) 3.125

| ) 25

25



- 53. The following information relates to | 53, weq wfemn & dey # fre wne.

Proj ect X’ :

Cost - 760,000 | o

| | | ARTd ; .+ % 60,000
Economic Life '. 10 yeérs 1 - . S
| ‘ 3‘-rrF9im EicE . 10 o

Ant;ual net cash inflow ? 10,600
| | Lo : aiftfs & TS Wa® T 10,000
Salvage value at the end of first ' ’ '

year ¥ 40,000. Annualvdecrease"iri U F g A | ﬁ'R‘IRUT ™

‘the cost- of investment from % 40,000 ¥4 79 9IE Wi @ € 5,000
the-éecond year and onward is R el .. - _
e » | #8 @ wwh 1 se-emse e

% 5,000. Find out Bail-out pay back - : : o
- - Iafy & TR WL 1
period : . s
| (A) 6 T
(A) 6 years R
(B) 3 &
(B) 3 years e

~ (C) 5 years. ' (C? 5 o

D) 10 years I (D) 10 7.

[4 o

7-ABST . 26



54. Calculate amount. of inventory : | 54.. ‘{'Eﬁl'aaﬁ Tfer 'q’ﬁTWHT HIY

| ~ Working cap_ii:él %80,000'_ | a;re:fqﬁa & 280,000
) A.Cu.rrentRajtio‘-':'v‘2:1‘.:k. | 31-513-@;13 9.1 |
| 1_,quék Ratio 1..25» 1  o WW " 125 1

(&) T80,000 (&) % 80,000
~ (B) ¥ 1,00,000 e
) (B) ¥1,00,000
(C) T 60,000 - : '
» ¢ | '(C)» % 60,000
(D) % 90,000
. o - D) ¥ 90,000
55. Calculate amount of sales from the |~

T ’ 55..ﬁmﬁfamﬁnﬁnﬁnm

. Wfvw wfE % 75,000

_ folidwing :
Qi)eniné ’stpck k¢ _175:,000-;
clésin'g stock 85,000 ) - -
.Stock_ Tur§§§ef - aﬂ‘m W& - . T 85,000
Ratio B | 10'ti1‘1;e‘s'v o m 3?131?? aﬁqﬁ 10 ’{IU'IT ‘
Selli_n_g.pr'icé - .25% al‘)ove;'costi: ﬁﬁ‘ﬂl T | HFTHIIR 25%
: {A) 8,00,000 S 1 -(A) 8,00,000
®) 12,5000 | R B 12,50,000 o

- © 7,56,000 L © 150000

D) 10,00,000 | @ 1000000
7-ABST - 27



- 56.

57.

7-ABST

'(A) PLAGj. Ale(in GL) Dr.

2

Goods purchased from Raj for 5,000
. was ;po_sted to Kumar’s A/c as % 500.

The:rectify entry in self-balancing

ledggf system is : © N

4500

- ToGL Adi Ale(nPL) - 4,500

(B) ;GL‘Adj A)é GnPL)Dr. 4,500 '
‘ _’fo PL Adj. Ale (in GL)

(© PL-Adj.A/c (inGL)Dr. 5,000

To GL Adj A/c (in PL.) 5,000

' (D)_ NoEntry

Capital at the beginning of 2014
was Z 12,000 and at the end % 25,650.
Owner drawn ¥ 6,000 during the

'year and put additional capital of

T 1,200 on 1-10-2014. Interest on
capital is to be allowed @ 5% p.a.

The proﬁtbfor the year 2014 willbe - :

(A) T 17,820
(B) ¥ 17,835
(C) T 18,450

(D) T 23,835 °

4,500

56.

57,

T @ 2 5,000 F W AW F TR
% @ # 2 500 F T 3 TR | @

CHgeR Yoel! & sl oTyIfe gum:

" (4) PLAdj. Ales GL) Dr. 4500
’I_;olG.rL Adj Al GnPD) 4,500
(B) »F'GL‘AdiA/c(inPL)‘Dr. 4500
To PL Adj. Ale (in GL) 4,500
© .PLAdj.A/c(ir’l-GrL)Dr; 5,000
| ToGLbAdj'A/q_ @PL) . 5000 |
D) HR uﬁ’@ #z”f'

2014 sﬁiq # §ft %‘12,000 oft ?ﬁﬁﬁ |

¥ # 225,650 | T A B I
6,000 3T fhT o 1-10-2014

71,200 F e I @R | 4

28

W 5% o =S e E | e 2014

T A B

(A) ¥ 17,820
(B) %17,835
(C) T 18450

- (D) % 23,835



58.- Flnd out amount of.ﬂ:i:otal
purchases.:

| ‘Opening balance of

 creditors S I '30,000' 

B Clo'sing balance of E
| creditors __ ;  g 50,0(‘)(_)7
Amount paid to creditors
durlng the year % 60,;000]
" Goods destroyed in
Godown - 73000
“C‘ash purchases B ¢ 20,‘000 |
(A).T 1,00,000
o (B) ¥ 1,03,000
1 (0) 797,000
D) T 80,000 -

- 7-ABST

it i 4

% A et

(A) ¥ 1,00,000

(B) T 1,03,000

" (0) 7 97,000

@) 7 80,000

58 T wa U A W G

3 30,()_00

Z 50,000

Z 60,000

.%.3,000.

% 20,000



59.

A coal company took a mine on

1-1-2014, royalty being ¥ 20 per ton

 with a minimum rent of ¥ 1,00,000.

" The shortworking can be reéouped '

in first two years of lease. The
production in 2014 was 4,000 ton

while in 2015 it was 4,500 ton. The

amount of unrecoupéd shortworking

at the end of 2015 will be :

(A) T 20,000

(B) ¥ 30,000

(C) % 10,000

(D) % 50,000

60.

The . accounting stvanda'rd for -

accounting of lease is :

(A) AS 13

(B) AS 14

(C) AS 17

(D) AS 19

7-ABST-
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59." T Frae HEA 1-1-2014 T TH WA

'?2oaﬁamwm?ﬁ | A

mnooooomgw mgmﬁtrﬁn

'ﬁuma‘lﬁﬁa@mmm

% 199 2014 T 2015 F1 SURA HH:

4,000 T4 9 4,500 T 7 | 9 2015

% o % ol e A 0

(A) ¥ 20,000

" (B) % 30,000

60.

(C) ¥ 10,000

D) T 50,000

W # d@iw @ fag dEn A
S S

(A) AS 13

(B) AS 14
(C) AS 17

(D) AS 19



~ 61. -Calculate value of loss of stock :

Stock on 1-4-2014

' Wages_

‘Total purchases upto

" the date of fire

2 2,40,000

. ¥3,05,000

% 555,000

Total 'sales upto the

~ date of fire

~ Goods Withdrawn for

Vpe.rsonal use
) Stoék_ salvéged' fxtom
fire .
: Rate of g.ros:s pi'oﬁt
@z 1,86,000
(B) % 2,35,000
(© T 144000

D) ¥ 1,99,000
7-ABST

2 11,00,000

3 40,000

z 36,000 -

" 25% on cost

61. wIF @ H U F@ FAC -

1-42014 W RIE

!

o am w Rf

o aw
'mwﬁﬁﬁfa_'

~>

T 2,40,000

% 3,05,000

? 5,55,000

¥ 11,00,000

S QS
e A ﬁat :

(A) T 1,80,000

- (B) %-2,35,000

(C) T 1,44,000

% 40,000

736,000

F R 25%

D) 7199000

31



62.

- 63.

T ABST

On 1-1-2014, Ramesh bought a

machine on.hi_re-'purchase System for

Z 1,20,000 payable in three equal |
insta]ments combining principal and
. interést. The rate on interest is 5%

- per ann.um.'v Calcula:xte cash price of

asset if present value of annuity of

¥ 1 for three years is ¥ 2.72‘325.'

(A) T 1,00,000

(B) ¥ 1,08,930 -

(C) T 1,17,940

(D) ¥ 2,72,325

The assets of a business was

4 54,00,000 and liability was

¥ 15,00,000. The

consideration of business was’
Z 60,00,000. Calculate value of

 goodwill.

(A) % 54,00,000
B) T 6,00,000
(©) T 45,00,000

D) T 21,00,000.

purchase

62.

63.
o T 15_,00,000 & qn F fawa
i TR T 60,00,000 A, A T AW

32

rbm 3 1-1-2014 =1 ¥ 120000 -

"m—mmm@mﬁwmﬁ
: ﬁngﬁﬁ?ﬁ‘—rmﬁmﬁm

¥ 1 e Yol e T W

% | = 5% e fern e d H:ltqﬁf

w1 A T T F AR T T

‘ﬁaﬁﬁm%mmaﬁmgw.

3 2.72325 & |
(A) ¥ 1,00,000

(B) ¥ 1,08,930

(€) T 1,17,940 -

D) T 272,325

Ifs sEEE #1 gt € 54,00,000 T

(A) T 54,00,000

" (B) % 6,00,000

(C) ¥ 45,00,000

(D) T 21,00,000



64,

Calculate amount of “a've\r“ag.e

*pro‘ﬁt ':

i ,Goodwﬂl 4 98 OOO 63 years purchases

of super proﬁt)

Nonnal ra'te of return '~10%

- Average ‘(:apital.erﬂplbyed Z5,00,000

(A) T 50,000

(B) ¥ 9,800

(C) T 69,000

(D) % 69,600

65,

(A) ? 107

‘The fair value of 'equity. share is
¥ 113.50 and yield value is ¥ 120.

Find ‘out intrinsic value of share.

® T 110

(O T11675

7-ABST

1)) NOne of the above '

. 64.

| wﬁ?gsooomfamﬁ$5aﬁm

'a‘:amantn)

W T ET‘_IQ%

sirea doft fafrEm % 5,00,000

(A) % 50,000

. (B) 9,800

(C) 69,000

(D). 2 69'6()0'

65.

_wﬁéﬁaﬁmmsﬁawnww
| amsrﬁrm—cftg@nzo@ a’ramﬁm-

(B) T 110

QA) T '1‘07_'

(C) T 116.75

o v A 3



67.

7-ABST

There are three departments X, Y

and Z. The purchase of these

}depa'rtr_'nents are 3000 units, 6,000 \

units and 7 200 units respectively.
There -sales are 3060 ‘units, 5760

units and 7488 units respectively.

Thecl'o.singv stock are 300 units, 480

units and 18 units respectively.
Opening stock of these departments

are ‘.respect'ivély.‘

(A) 360, 240 and 306 units

(B) 240, 360 and 306 units

(C) 306, 240 and 360 units

(D) 360, 306 and 240 units

‘Which the following reserQe of the
' trgnsfer‘of company should be

" included in ﬁnahéial statement of

transferree company.

‘ (A) General Reserve
(B) Capital Reservé ;

- (©) S_.tatutbry ReSeﬁe

(D) Dividend :qui'alisation Reserve

34

66. X, Y 9 Z dF fawm ¥ 1 & fawmi

F % wEw: 3000 TEAl, 6000

T T 7200 A ¥ 1 fa

W 3060, 5760 TH 7488 T

aq1 A VIF HHW: 300, 480 q
18 TwRAl ¥ | I = wfiE =%

ELL L SR

" (A) 360, 240 am'sosémﬁ
| (B)"240,A;'360_am 506 whl
. (C)‘ 306, 24(_) aaﬁ 360 sm?ﬁ |
o 360, 306 A 240 T
67, Fr 7 2 A T A (gen
. et e ) et e
ot # W o T ® 7

(A) 99 w99

®) I F=

(C) duit g

,' (D). S AT o



68

‘The ‘balance remains in capxtal

: redwctlon Alc after wntmg off of all

'l,os_sess, will be transferred to :

(A) ’C‘apital Reserve o |

(B) Secret Reserve

. '(C) General Reserve

69.

‘ (D) Capltal Redemptlon Reserve_

Under firm underwriting under:

writer agree to :

7N Charge less commission

B) Charge more eornmissiori '

, (C) Not subscrlbe any share other

than contractual

(D) To subscribe certein shares

70..

other. than contractual .

Debenture stock indicates that :

(A) Debenture is partly paid -

“(B) Debentures are issued at'|

~ premium’

o ©) 'De’bentures are‘fully’ paid |

(D) Debentures are - 1rredeemable ’

7-ABST.

68.

o i A ot w0 B @

'i@ﬁw@ﬁa}mﬁmﬁaf‘m’m

S

,(A)’Iiﬁ#s‘ﬂ

(B) {[l?fw

69.

70.

(D) T‘{Gﬁ v =g

_(C)WW

wfafwfrqqﬁafwﬁwamﬁmt

(8) T e e B far

B sfow wieE W F R

(©) awg'a’?r# sfafE 28 53 ama

o & fag

) agaaa}af‘aﬁaaaﬁs‘mméﬁ“ ,

a?fﬂ‘!
Wmsﬁmm%

-(A)W.awmfﬁf T

(B) L mﬁwmﬁﬁhﬁ% |

'(C)W‘{t’fﬁ%

’.(D) BT ewﬁwﬁa %



- Space for Rough Work
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